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301 dRbEAE 45,498 0 45,498
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01 WA EZ 800,800 312,000 488,800
Og Al Arst AEAFY 1,300,000 *770t)%80/100 = 800,800
(= 200,000]
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BTG AR (TP ) 75,048 39,936 35,112
AEEFR(nFy g ) 75,048 39,936 35,112
258 F ] 73,848 39,336 34,512
101 Q171H] 70,308 37,476 32,832
02 % 6,503 4,117 2,386
O 294543 4,583
- AL 2T (DA 7,325 19 %272 7H+129%1.,018 = 2,417
“AIZE ) R (A A oA 6,564 17 %27 A) 7++12¥ 1,018 = 2,166
O A4 1,920
- ST 1,920
Hlj -9-=} 40,0009 #29*129 = 960
FF7r 20,000 x4 12 = 960
03 A5 An 3,120 1,560 1,560
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07 A7FRAN 3,043 1,595 1,448
O A FA ("H" ) 30,642,000) #1789 %19/360 = 1,618
OddAFA("e" ) 27,000,000 1™ *19/360 = 1,425
08 7IepA B 57,642 30,204 27,438
O AFAFZACAgA A ") 30,642,000 %1% = 30,642
ONTAZA(AYA A "et"5) 27,000,000 %1% = 27,000
2] -4 3] 73 v 3,540 1,860 1,680
02 25 HzxA 3,540 1,860 1,680
OA ] AFHzn("g"H) 155,000 178 %129 = 1,860
OA ] Agrzv (") 140,000 1 %129 = 1,680
Hj ol g g-o v 1,200 600 600
204 A F-F8 7] 1,200 600 600
03 SAZATFTALEH 1,200 600 600
OA k] giul&dsu (e, " =) 50,0009 29 129 = 1,200
1,529,400 2,016,100 A486,700
A = 1,529,400 2,016,100 486,700
ZNEFS A A E = 1,529,400 2,016,100 486,700
701 71EFS A E = 1,529,400 2,016,100 A486,700
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